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PHILOSOPHY HSSC-II
SECTION — A {(Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

(i)

(vii)

(viii)

(ix)

(xi)

(xii)

(xiii)

(xiv)
(xv)
(xvi)

(xvii)

(xviif)

From which language is the word “Logic” derived?

A Latin B. Greek C. Persian D Arabic
Who wrote "The Critique of Pure Reason™?

A Bertrand Russel B. Whitehead C. Kant D Hegal
Which subject differentiates between valid and invalid reasoning?

A Ethics B. Logic C. Aesthetics D. Physics
Which is the subject in the following proposition? “All Men Are Mortal”

A All B. Men C. Are D Mortal
How many kinds of proposition are there according to quantity?

A One B. Two C. Three D. Four
Which term is distributed in ‘A’ proposition?

A Subject B. Predicate

C. Both Subject and Predicate D. Neither Subject nor Predicate
Which term is distributed in 'O’ proposition?

A Subject B. Predicate

C. Both Subject and Predicate D. Neither Subject nor Predicate

tf 'E’ is false, ‘A’ is:

A True B. False C. Unknown D. None of these
IfO"istrue, ‘I' is:

A True B False a Unknown D. None of these
{f;Qxisfalse, (E’ s

A. True B. False C. Unknown D Nene of above
If ‘O is true, ‘Allis;

A True B. False C. Unknown D. None of above
Which law says "Both contradictories cannot be true at the same time”?

A Law of ldentity B law of non-Contradicticn

C. Law of Excluded Middle D. None of above

in which kind of inference do we infer conclusion from only one premise?

A. Immediate Inference B. Mediate Inference

C. Syllogism D. Mixed Syllogism

How many terms are there in Syllogism?

A One B. Two C. Three D Four
Mincr term is represented by?

A P B. S C. M D. E
Middle term is represented by:

A P B. S C. M D. E
Where is major term found?

A Minor premise only B. Major premise only

C. Minor premise and conclusion D. Major premise and conclusion
Where is middle term found?

A in major premise only B. In minor premise only

C. In both premises D. in conclusion

Which symbol is used in conjunctive proposition?

A . B. v C. o D =
Which symbol is used in equivalent proposition?

A. . B. v C. ) D. =
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Time allowed: 2:35 Hours

PHILOSOPHY HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b})’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 50)
Q.2 a Answer any FIFTEEN parts. Be brief and to the point in your answer. {15 x 3 = 45)
(i Define logic.
(i) What is subject?
(iii) What is Copula?
(iv) What is the difference between truth and validity?
(v) Write a short note on language as an instrument.
{vi) What do you know about the informative use of language?
{viiy Write a short note on the directive use of language.
(wvili) What is the failacy of appeal to force?
{ix) Write a short note on the fallacy of complex questions?
(x) How wouid you describe the fallacy of equivocation?
{x1) Describe the fallacy of accent.
{xil) What do you knowrabout particular propositions?
(xiil) Write a'short note on negative propositions.
(Xiv) Describe the law of identity.
(xv) What is the law of excluded middle?
(Vi) Draw the Venn diagram of ‘A’ proposition.
(xvity  Draw the Venn diagram of ‘O’ proposition.
(xviiij  1s the following syllogism valid? If it is not valid, which fallacy is committed? AAA > 1]
(xix)  Which fallacy is committed in the following syllogism?  AAl > |I
(Xx) Is the following syllegism valid? If it is not valid, which fallacy is committed”? 1AL (I
{xxiy  Which fallacies are committed in the foilowing syllogism? EEl 2> IV
b. Attempt any ONE part. (1x5=5)
(i) What do you know about generalization?
(i) What is enumeration?
SECTION — C (Marks 30)
Note: Attempt any THREE guestions. Ali gquestions carry equal marks. (3x10 = 30)

Q.3  Write a detailed note on the impartance of logic.

Q.4  What do you know about categorical propositions?

Q.5 Describe the rules of syllogism.

Q.6 Write a detailed note on the need and importance of Explanation/Hypothesis.
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